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BHHEENRE AFNTAE 4 AR G RO B R G BB T

£ L g - BRTE BGr ¥ = B & # W OZE

BEEISEE 71,812,124
B3R Gh) (B R) 71,812,124
HEBET 71,812,124
HEEERT 71,812,124
HEEER 71,812,124
1-1 EiigR #MA5~100kg/EEE (X% R) 3, 554. 00 20, 206 71,812,124

m3
HEREE (FEL) 771, 888
HBREE 771, 888
HBREE 771, 888
2 H 651, 888
TEXER 651, 888
1-2 REER/M FRP D 180PSZ! 1.00 651, 888 651, 888

=®
BitTEEE 120, 000
HifrEE 120, 000
1-3 HMEEE HREYRRAE 1.00 120, 000 120, 000

=®
BEEI=E 1,788, 793
A= 1,788, 793
TILFE—LBIR 1,788, 793
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% i g - BRKTE B H = B O\ ® #& S

TILFE—LAE 1,743,793
B2 %R 389, 499
2-1 Q=% 1.00 199, 576 199, 576

=
2-2 HWMER(FEEZY) 1.00 189, 923 189, 923

=
KA = 670, 900
2-3 BETALH 1.00 665, 305 665, 305

=
2-4 TILFE—LAE 0.01 559, 569 5, 595

km2

R 683, 394
2-5 ART— ¥R 1.00 683, 394 683, 394

=
EERE 45,000
R 45,000
2-6 EBEHEM 1.00 45,000 45,000

=
BRI 271, 430
BIE X 271, 430
TILFE—LAE 271, 430
BEEAGE 269, 350
(B3 269, 350
3-1 3RFTEEET T — R 1ERL 1.00 269, 350 269, 350
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% g & - BARTE Bifg = il ® & i

EEIEE 71,812,124
RETEE 6,114,709 + 19,684,318 25,799, 027
HBRERHE (BH) 771,888 + 4,818,593 + 524,228 6,114,709
HBEREE (BE) 771,888
HBERERE (F) 71,812,124 x 6.71% ((5.08% x1.00 +1.50%) x 1.02) 4,818,593
RERERER 71,812,124 x 0.73% 524,228
RISEER 77,926,833 x 25.26% ((22.85% +1.67% x 1.03) 19,684, 318
TR 71,812,124 + 25,799, 027 97,611, 151
—REEES 97,611,151 x 17.15% (17.15% x 1.00) — 507 16, 739, 805
R#RILH 97,611,151 x 0.04% 39,044
TSt 97,611,151 + 16,739,805 + 39, 044 114,390, 000
EENER 1,788,793
ERE 1,788,793 x 79.5% — 883 1,421,207
ABEEE 1,788,793 + 1,421,207 3,210,000
e T 3,210,000
BRI 269, 350 + 8,080 277,430
EEAGE 269, 350
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% g & - AR Bifg B 2 B ® & wmE
EEREE 8, 080
T O R 269,350 x 53.85% ( 35% + (1 — 35%) ) 145,044
EHRIE 277,430 + 145,044 422,474
—REEES 422 474 x 53.85% (35% + (1 — 35%) ) — 9,976 217,526
ESlid 422,474 + 217,526 640, 000
BRHEAE 114,390,000 + 3,210,000 + 640, 000 118, 240, 000
HETEALE 118,240,000 x 10.00% 11,824,000
EEIZE 130, 064, 000
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&S 1-1
2 ERER HAS~100ke/EIEE %R) 1000m 34 Y
2 o g - BIRTE BT H = =i} ® W= " =
A #A5~100keg/ETEE (%i%R)
m3 1, 300. 00 15, 200. 00 19, 760, 000
Bkt D 270PSE! 3~5tA
B 1.38 250, 869. 00 346, 199 8H
SRR S 2{KDY%
% 0.50 20, 106, 199. 00 100, 530
& B YEZEREH : 1,000.00m 3 20, 206. 00 20, 206, 729
‘S :1-2
L5 REEEM FRP D 180PSH! 15ty Y
2 o g - BIRTE BT H = B ® W= " =
ZEERM FRP D 180PS%!
B 5.00 129, 729. 00 648, 645 6. 00H / 8H
SRR S 2{KDY%
% 0.50 648, 645. 00 3,243
& B 1E%8EH : 1.00= 651, 888. 00 651, 888
&S5 :1-3
2% HitEBRE REEIRRE 1KY
2 £ g - BIRTE BT H = =i} ® W= " =
BiTEEE HREIMAE
I=E 1.00 120, 000. 00 120, 000
& it 1E%8EH : 1.00= 120, 000. 00 120, 000




Rifiz -/ \v7r—o

TMTEERBEGLH R RIECH(R R ERTE

&S 2-1
& =% RE 1KY
2 o g - BIRTE = v = B ff ® W= " =
RIS EEHEm
A 1.00 60, 600. 00 60, 600
B EHER
A 1.50 52, 300. 00 78, 450
B E A
A 1.00 41,100. 00 41,100
RIEBF
A 0.50 34, 900. 00 17, 450
MAH 2H0%
% 1.00 197, 600. 00 1,976
& b 1EZREA - 1.00 199, 576. 00 199, 576
‘S :2-2
2 BMER(EESZY) 1KY
2 o g - BIRTE = v = B ff ® W= " =
REMHENE
A 1.00 28, 700. 00 28, 700
vy 2tiE
B 1.00 34, 763. 00 34,763/4.70H / 8H
J1)—EH 5~ 6mk i
= 1.00 124, 580. 00 124, 580
AN 2H0%
% 1.00 188, 043. 00 1,880
& b 1EZRER - 1.00 189, 923. 00 189, 923
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&5 .23
B BBETR L 1RXHY
& 7 g - BIRTiE BAf £ B @ & % = i
REE >S4 kN2 2L
B 1.00 3,728.00 3,728/2.00H / 8H
B2 F A BEm
A 1.00 60, 600. 00 60, 600
B S HAm
A 1.50 52, 300. 00 78, 450
B S HAmE
A 1.50 41,100. 00 61, 650
BIEBF
A 1.00 34, 900. 00 34,900
A= FRP D 70PSZ!
B 1.00 53, 750. 00 53, 750 8H
GNSSRIfI & DGNSS
B 1.00 25, 740. 00 25, 740
TILF E—LTEBIFE 36~455kHz
B 1.00 339, 900. 00 339, 900
HME 2EDY
% 1.00 658, 718. 00 6, 587
& b 1EZRER - 1,00 665, 305. 00 665, 305
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‘S :2-4
B TILTFE—LALE 1B%Y (1.33km2)
2 o g - BIRTE = v = B ff ® W= " =
REE >S4 kN2 2L
B 1.00 3,728.00 3,728/2.00H / 8H
A= FRP D 70PSZ!
B 1.00 66, 938. 00 66, 938 8H
RIS EFHEm
A 1.00 60, 600. 00 60, 600
B EHER
A 1.00 52, 300. 00 52,300
B E A
A 1.00 41,100. 00 41,100
RIEBF
A 0.50 34, 900. 00 17, 450
GNSSRIfI & DGNSS
B 1.00 34, 320. 00 34,320
TILF E—LTEBIFE 36~455kHz
B 1.00 453, 200. 00 453, 200
AN 2H0%
% 2.00 729, 636. 00 14,592
& b E%BEAN : 1.33km 2 559. 569. 00 744, 228
&S :2-5
B BIRT—A R 1KY
2 £ g - BIRTE = v = B ff ® W= " =
RIS EFHEm
A 3.10 60, 600. 00 187, 860
B EHER
A 4.10 52, 300. 00 214,430
B E A
A 6. 20 41,100. 00 254, 820
AN 2H0%
% 4.00 657, 110. 00 26, 284
& b 1EZRER - 1.00 683, 394. 00 683, 394
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H#S:2-6
27 RBARS EED
2 # i - Tkt B 2 g ff ¢ = o=
EBARRE
= 1.00 45, 000. 00 45, 000
=) B EZBEH 1. 00X 45, 000. 00 45, 000
#S 1 31
£ SRR T— SR 1R Y
2 # i - Tkt B g & ff ¢ = W o=
EEHET (A
A 1.00 66, 900. 00 66, 900
Em (A)
A 1.50 59, 600. 00 89, 400
Em (B)
A 1.50 48, 500. 00 72,750
HE (C)
A 1.00 40, 300. 00 40, 300
=) & %85S : 1. 005EER 269, 350. 00 269, 350
532
2% FHARE EED
2 # i - Tkt B 2 g ff ¢ = o=
SHARE
= 1.00 8, 080. 00 8,080
=) & EZREH - 1. 00X 8, 080. 00 8,080




